z S <
e c n (@)
& £ B g o g
— <L 4 (D) c
E g g ¢ 2 5 £ ad o 9
S » B £ T Q@ o 2 5 2 S =
T O O 5 8 L 2 S F & a 3
5 53 6 © © > &L E B £ & » w 2
) ©
2. 22 23£ 58585888885
8 @ & ©® a 2 2 x 0o 2 T £ >3 8« < © _
Z o = L O o nm U m O 0o I ow Z Constructs:
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Eg X O X O X X O O O X O o o X Xx Shy (X) vs Confident (O)
1 VS
2 VS
3 VS
4 VS
5 VS
6 VS

Calculate the number of matching scores:

Row 1 & 2 matches =

Row 2 & 3 matches =

Row 3 & 5 matches =

Row 1 & 3 matches =

Row 2 & 4 matches =

Row 3 & 6 matches =

Row 1 & 4 matches =

Row 2 & 5 matches =

Row 4 & 5 matches =

Row 1 & 5 matches =

Row 2 & 6 matches =

Row 4 & 6 matches =

Row 1 & 6 matches =

Row 3 & 4 matches =

Row 5 & 6 matches =

We would be interested to hear what constructs you came up with and whether you thought it was useful. Do email us at allinthemind.bbc.co.uk




